30.03.21 Challenge
Percentage – missing values

Use a bar model to help you solve the following problems.
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'309% of the seats at a cricket match are taken. So far,
there are 750 people present. How many people will
be there when allof the seats are filled?”

‘So far, Adam has read 180 pages, or 60% of his book.
How many pages are inAdam’s book in total?”

“Apair of rainers s reduced by 25%n asale. They
now cost £36. What did they cost at full price?’

“90% of the runners in a race have crossed the finish
line. There are still 12 runners on the course. How
many runners took part altogether?




